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1. Solve the following system by Gauss – Jordan elimination:   

 

a)                                       b)                                                                         

                                                                                                                               

                                                                                                                             

  

2.  Consider the system of linear equations      where: 
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a) Find    . 

b) Solve the system      using    . 

 

3. For which values of k will the following system have no solution? Exactly one solution? 

Infinitely many solutions? 

                                                                 

                                                       2          

                                                                          

 

4. Find all matrices   such that: 

a)            
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5.  Determine whether the following statemET

BT

1 0 0 1 92.424 620.5 Tm

[(Co)-3(n)4(s).(ate) 92.424 620.5 Tm

[(Co)-3(4l )5( 2)4(s).(ate) 92.424 620.5 Tm
wr BDCe oBT

/fa
1 0620.5e.024 419.83 Tm

[( )] TJ
739 375( st)10(ate30.58 509.11 Tm

[( )] T3
1 15)-3(r )4(t)12(he)-2( f)12(oll)-2(owi)-03>.
/F-3(r )4(t)12(he)-2( f)12(
ET

Q

BT

/F3 111.04 Tf

1 0 0 1 122.3 385.63 T36
[( )] TJ

ET

BT

/F1 11.04 Tf

1 0 0 1 130.58 385.63 Tm

[<123A>] TJ

ET

BT

1 0 0 36
[( )] T85.63 Tm

[<0723>] TJ

ET

BT

/F4 8.04 Tf

1 0 36
[( )] T83.87 Tm

[(us)4(i)-4(n
[<0D45>] TJ

ET

BT

10 394

BT
59.26 385.63 Tm

[<0378>] TJ

ET

BT

1 0 0 1 1652.04  36
[( )] T83.87>] TJ

ET

BT

1 0 0 1 113(r7  36
[( )] T83.54>] TJ

ET

BT

/F4 8.04 Tf

1 0 36
[( )] T83.87>] TJ

ET

BT

1TJ

ET

BT

/F1 11.04 T9
1 094

BT
59.26 385.63 Tm

[<0378>] TJ

ET

BT

1 0 0 1 167

1 0 36
[( )] T83.87 Tm

[(us)4(i)-4(n-4(h tha)9(t:)] TJ

E 0 9 0 36
[( )] T
1 0 0 1 301.61 665.02 Tm

[<0:)] TJ

E 504 T 36
[( )] T
P <</MT

1 620.5  )12(ss).(am)6620ri)7C q4.77 385.63 Tm

 -0.02886

1  36
[( )] T85.63 Tm

[<0723>] 0 0 1 268.13 4 36
[( )] T85foBTan

/4(i)- 391.51 Tm

[<0373>] TJ

ET

BT

1 0 0 1 210 36
[( )] T83.84A0A68.84ABT

1 0 0 1 90.024 434.71 Tm

[(  )5(  

/F1 36
[( )] T85.63 Tm

[<0723>] 0 0 1 230

[(  36
[( )] T85
ET

B2)4(0ric)-6n? )] 620.5 A)5(eET

 723>]B30.58 509.11 Tm

[( )] T387 434 36
[( )] T85.63 Tm

[<07
ET

Q

BT

/F3 11.04 Tf

1 0 0 1 122.3 679.9 Tm321

1 BT

/F4 11.04 Tf

1 0 0 1 284.93 385.51 Tm

 0 Tc[<124m

[(S)-3(olve )3(th)10(e s)-321

1 BT

t)12(em)-5( )] TJ

ET

BT

/F4 11.04 Tf

1 0 0 321

1 BT

tsp(i)(o s)ane72307.63 Tm

[<0723>] TJ

ET

BT

/F4 8.04 T 1 1 321

1 BT

t0376>] TJ

ET

BT

1 0 0 1 2T

174 321

1 BT

t03435.07 Tm

 0 Tc[<123B>] TJ 

45 321

1 BT

t0373>] TJ

ET

BT

1 0 0 1 310 

 

 

�s



8.  Given the points   



ANSWERS: 
1.      a)                      b)                            
  

2.     a)       =

9 2 3

1 1 0            b)             
  
  
  

  

 
3.                                 
                           
                                       
 

4.  a)     
  
  

           b)      
       
       
       

  

 
5.  a)  True.         b)  True. 
 

6.  a)  (i)   
 

  
   (ii) 32                 b)           

 

7.  a)    
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8.  a)             b)  
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9.  a)        
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10.  a)                                   
        b)      
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